Negative Zahlen Variante 12 Klasse: Datum:

Multiplikation bis 1.000 Blatt 31 Name:

@  a (+70) « (-14) = ®) (1430) « (-2) =
D (-170) « (-4) = NG ORI
®) (-240) o (+4) = V20 - cae =

@ a) (+160) « (-6) = b) (-2) « (#300) = .
9 (-30) . (-20) = Vew eun =
e) (-50) o (+11) = ) (-19) « (-40) =

® D ey .10 = (2 .m0 =
C) (-39) « (-200 = d) (+2) e (-350) =
® (00 .« (+6) = D2 .0 =

@ a) ( +320) . ( - 3) = b) ( - 4) ® ( +170) = ..
C) (-30) < (-29) = d) (+2) e (-440) =
e) (-40) « (+15) = f) (-6) e (-100) =

@ a) ( +470) . ( ) 2) = b) ( - 26) « = -780
o e (+17) = -510 D (r11) o (-80) =
®) (-46) o = -920 f) e« (-50) = 900
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Negative Zahlen Variante 12

Multiplikation bis 1.000 Blatt 31

@ a) (+70) o (-14) = -980 b) (+430)  (-2) = -860
9 (-170) « (-4) = 680 Vo9 . 70 = 630
®) (-240) « (+4) = 960 V20 - ae) = o0

@ a) (+160) « (-6) = -960 b) (-2) « (#300) = -600
9 (30 .+ (-26) = 780, Yy .0 = 8
e) (-50) « (+11) = -550 f) (-19) « (-40) = 760

® @ eg) . (100 = 000 ) (-22) .+ (+30) = 560
C) (-39) « (-20) = 780 d) (+2) e (-350) = -700
®) (-90) .« (+6) = -540 D (2 .30 = 720

@ D (+320) + (-3) = -960 ) (ca) . (+170) = 30
C) (-30) < (-29) = 870 d) (+2) e (-440) = -880
e) (-40) « (+15) = -600 f) (-6) e (-100) = 600

@ a) (+470) . (_2) = -940 b) (_26) e (+30) = -780
© (-30) e (+17) = -510 D (+11) .+ (-80) = 890
® (-46) = -920 D « (-50) = 900
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